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QUESTION 1

Select the word that is most nearly the same in meaning as the word in capital letters. SALUTATION 

A. speech 

B. persuasion 

C. penalty 

D. greeting 

Correct Answer: D 

 

QUESTION 2

Select the word that is most nearly the same in meaning as the word in capital letters. 

SCUTTLE 

A. scurry 

B. prowl 

C. activate 

D. hassle 

Correct Answer: A 

 

QUESTION 3

Select the word that best completes the sentence. 

Sea turtles are __________ aquatic, usually coming onto land only to lay eggs. 

A. furtively 

B. rarely 

C. predominantly 

D. exclusively 

Correct Answer: C 

 

QUESTION 4

Compare the quantity in column A to the quantity in Column B. 
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A. The quantity in Column A is greater. 

B. The quantity in Column B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: D 

 

QUESTION 5

Select the word that best completes the sentence. 

After projecting steep budget __________, the company was forced to close underperforming stores in an effort to
reduce spending and avoid losses. 

A. negotiations 

B. divisions 

C. deficits 

D. increases 

Correct Answer: C 

Latest ISEE-TEST Dumps ISEE-TEST Practice Test ISEE-TEST Exam
Questions

Powered by TCPDF (www.tcpdf.org)

Latest ISEE-TEST Dumps | ISEE-TEST Practice Test | ISEE-TEST Exam Questions                                3 / 3

https://www.leads4pass.com/isee-test.html
https://www.leads4pass.com/isee-test.html
https://www.leads4pass.com/isee-test.html
https://www.leads4pass.com/isee-test.html
http://www.tcpdf.org
https://www.leads4pass.com/isee-test.html
https://www.leads4pass.com/isee-test.html
https://www.leads4pass.com/isee-test.html

